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Marepiamz Tecry [us OLiHIOBAHHA PiBHA HABYAIBHUX [OCATHEHb YIHIB 3 aHTVIACEK0l MOBH B 10 kmaci
3ara;bHOOCBITHIX HABYAIBHUX 3aKIAMIB IArOTOBIEHO BIIIOBIIHO 0 YMHHOI HaBdanbHOi [Iporpamu 3
iHOBEMHEX MOB.

3micr i dhopmMar TecTy BpaxoBye TOJOBHY METy HABYAHHSI 1HO3EMHOI MOBM y 3arajbHOOCBITHIX
HABYATBHHX 3aK1a/aX — ()OPMyBaHHSA B yIHIB iHIIOMOBHOI KOMYHIKATHBHOI KOMIETEHTHOCT] HA IPYHTI
KOMYHIKATHBHEX yMiHb, cOPMOBAHMX HA OCHOBI MOBHHX 3HAHD | HABHYOK.

O6’exraMu TeCTYBAHHA BHSHAYAKTHCH YHTAHHHA | IHCHMO HK BHIH IHIIOMOBHOI MOBIEHHEBOI
JUAIBHOCTI, A TAKOMX JSKCHYHAMR i rpaMaTHIHMI acIekTH (BHKOPACTAHHEA MOBH).

3micT TecToBEX 3aBHaHb (yIyeThCH HA ABTEHTHYHHX 3pasKax MOBJICHHS, IPHAHATOrO y Bemukii
Bpurasii, Ta Bignosigae cdepam 1 TeMaTHI CHTYaTHBHOTO CIIIKyBAaHHSH, BESHAYEHHM HABYAIBLHOIO
TPOrpamoro.

SBaBraHHs /I’ BUSHAYEHHS piBHA copMoOBaHOCTI KoMIeTeHnii B wmraHH OpiGHTYeTHCA Ha
POBYMIHHS yIHAMHA OCHOBHOI 1H(OpMAL]

SBaBgaHHA Ul BUBHAYEHHA pIBHA Cc(OPMOBAaHOCTI KOMIeTeHNii B mmchMi 30picHTOBaHI Ha
BHKOHAHHA KOMYHiKaTHBHO-TBOPYOT0 BHJLY AiATBHOCTI: HAITHCATH ece Ha 3AIIPONIOHOBAHY TeMY, OB A3aHy
3 inTepecaMy Ta KOMyHIKATHBHMMH II0TPE0AME yIHIB OCHOBHOI IIKOJH, 110 Y3TOMKYIOTHCH 3 BEMOTAME
HaBYAJbHOI IPOrpamMu.

Komurpons mexcudsoi Ta rpaMaTuaHOi KOMIeTeHIi (BUKOPHCTAHEA MOBH) Iepesfadae BU3HAYEHH
piBHA cHOPMOBAHOCT] IEKCHIHEX i FPAMATAYHKX 3HaHb | HaBua0K. OKpPIM TOTO, TECTH MICTATD 3aBAAHH,
1[0 KOHTPOIIOIOTH 00CAT COIIOKY/IbTYPHIX 3HAH.

Pisnopisresi saBpanns s6ipauka srpynosaso y 10 piBHOSHAYHHX BapiaHTIB.

Kosxamii 3 BapianTis ckrafaeTses 3 5 TECTOBHX 3aBaHb I09aTKoBOro piBaa (1-5), 11 recToBux 3aBaHs
cepenEboro piBuda (6-16), 8 saBgans gocraraboro pisaaA (17-24) ra 1 saBgasHd BUCOKOro piBas (25).
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MoHiTOpPHHT HABYANBHEX JOCATHEHb 3 aHIIHCHKOI MOBH y4HIB 10-X Kiacis nepesbadac BUSHAYEHHT
piBHs HAGyTOr0 HUMM iHIIOMOBHOrO KOMYHIKATHBHOTO JOCBIY 38 KypC OCHOBHOI IIIKOJIH.

Mera TecTyBAHHS — BESHAYUTH AKICTH IHIIOMOBHOI KOMYHIKATHBHO] KOMIIETEHTHOCT] y9HIB, fAKa
mae pocartu pisasa A2 (y repminax Pagm €spomnn).

OG6’6KTH KOHTPOIIXO — HABUYKY U YMIHHA YUMAHHA 1 nUcbMa AK BUAIB MOBIEHHEBOI NiAIBHOCTI Ta
NEKCUMHT, 2PAMAIRUYHI, COYIOKYAbIMYDHI 3HQHHS HK aCIHeKTH IHIIOMOBHOI KOMYHIKATHBHOI
KOMIIETEHTHOCT] IMIKOJIAPIB.

Ilponenypa mepeBipku: TeCTyBaHH:A 3AIHCHIOETHCA Y IIMCHMOBIH (opMi i cRIafaeThes 3 IBOX THUITB
saBfadk: 1) MHoNCUHHO20 6UOODY i3 3aKkpUMOI0 hopMmoio 8i0noeidi (BHOIP ONHOTO IPABHILHOIO BapiaHTa
BiATIOBIZAI 3 KiNBKOX 3aIPONOHOBAHKX; BU3HAYEHHS BIATOBIAHOCT] 10 Mpex ABIeHHX 06 €KTiB 3 KLIBKOX
HOfaHEX BapiaHTiB); 2) meopwozo 3aedanHs (HAIMCAHHA BHCIOBIEHHS 34 3MICTOM 3aIpONOHOBAHOL
MOBJIEHHEBOI CHTYyarii).

Jlo6ip TecToBHX 3aBJAHB 3MifCHEHO BiNMOBiHO M0 3MicTOBMX miHif (MOBIEHHEBOI, MOBHOI,
COIiOKYIBTYpHOI, MismbHicHOI) [lepaBHOrO CTaHapTy i 3 ypaxyBaHHAM BHMOT YMHHOI HABYAIBHOL
IIporpamu 3 iHOBeMHHUX MOB, 3aTBep/:xeHo0l MiHicrepeTBoM ocBiTH i Haykw YkpaiHu.

Tecr micTuTh 24 3aBJaHHEA MHOKHHHOTO BHOOPY i 1 TBOpYe 3aBraHH:.

3aedanns Ne 1 cupaMoBaHe HA BUSHAYEHHS PiBHA c(HOPMOBAHOCTI B YIHIB KOMIIETEHII B IHTAHH] —
ymiHHA 3700yBaTH OCHOBHY iH(OpMAUil0 3 IHOIOMOBHOTO &BTEHTHYHOIO JAPYKOBAHOIO JUKeperna
(03HAMOMIIOBAIbHE YUTAHH:). BiANOBifHO 40 3MiCTy IpeX’sBIEHOT0 TEKCTy HEoOXifHO AOIOBHHTH
KOJHE HaBeJeHe PEYEeHHs OJHUM i3 JOTHDPHOX 3alIPOIOHOBAHUX (hparMeHTiB, MOCTABHBII y KBampari
BinmoBiAHY TiTEpy.

3aedannsa M 2 nepenfadac BCTAHOBIEHHS BiANOBIZHOCTI: i3 ceMM MpeJ SBIEHUX OTONOLIEHB
HeolXiZIHO BEBHAYUTH II'ATh, 3MIiCT AKAX BiAOBiZa€ ONHOMY 3 HaBeieHHX KoMeHTapiB. JIBa oromomenuas
3aifBi.

3aedanns Ne 3 Mac Ha MeTi BUABUTH B yIHIB 06CAT COMiOKYIBTYPHHX 3HAHb. KowHe i3 mecTn
HABE/[EHUX PeYeHb Bi/TOBIIHO 10 HOro KOHTEKCTY He00XiIHO IOMOBHUTH OHKM 3 JeCATH 3aTPOIOHOBAHAX
(parmeHTiB, YOTHPH 3 AKUX 3AKBI.

3aedanns Ne 4 ipusHaveHe JUis BU3HAYEHH:S PiBHA cOPMOBAHOCTI B yYHIB HABYAIBHOTO JOCBiAY
aleKBaTHO BUKOPHCTOBYBATH JIEKCHYHI Ta rpaMaTHYHi OXMHUI| y 3MicTi 3aIpOIIOHOBAHHX pedeHb. I3
9YOTHPLOX BapiaHTiB HEOOXIAHO BUGpATH TO, [0 BIANIOBifaE KOHTEKCTY PeYeHHs, i IOCTABHTH BiIOBiIHy
niTepy B KBajpaTi.

Baedanns Ne 5 nepenbauac mepeBipKy piBHA chOPMOBAHOCTI B yYHIB IHIIOMOBHOI KOMIETEHIII y
mwmcsMi. BifmosizHo 10 3MicTy 3anponoHOBaHOI MOBIEHHEBO] cUTyalii He0OXiJHO HAIMCATH BUCIOBIEHH
¥ Meskax ykasaHoro obcary (ue Gibie 60 ciriB), BUCBITIMBIIE B HHOMY 3aIIPOIIOHOBAH] IyHKTH.

Ha sukoHaHHA TecTy BiIBOTUTHCA OXHH YPOK (45 xBuiuH): opieHTOBHO 30 XBHJIMH HA BUKOHAHH
TIepIIuX YOTHPHOX 3aBJans i 15 XBHIIMHE Ha BUKOHAHH II'ATOTO 3aBAHHA.

Ilix wac mpoBefeHHA TeCTyBAHHS He AO03BOJAETHCA KOPHCTYBATHCH OyAb-AKHMH THAAKTHIHUME
Marepianamu (MiApyIHHKAME, CIOBHHKAMHE, Z0BIIHAKAMH, EIEKTPOHHIMHE 3ac06aMu).
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r T Pipens o W Kinskiers | Kimskicrs 6amis Maxcumansaa
o BaBAHHA P’ & v 3aBaHb 3a 3aBAAHHA kinbricrs 6anis
1-5 TlouarxoBuit | Basjanus 3 BubOpoM oxHiel 5 0;1 5

mpaBuIBHOI Bignosixi
6-10 Cepenuiit Baspanns Ha BigmOBiAHiCTH 5 0; 1 5
11-16 | Cepepnmiit Baspanns Ha BigMOBiAHiCTE 6 0; 1
17-24 Tocrarsii Baszanna 3 subopom oamiel 8 0;1 8
NpaBUABHOI BixmoBial
25 Bucoxuit BaBJaHHA BIIKPUTOrO THILY 1 0-2; 0-3; 0-2; 11
0-2; 0-2
Besoro 25 35

OuiHIOBaHHS PE3yJILTATIE TECTYBAHHA YIHIB 3AIHCHIOETHCA BITOBIAHO 10 PiBHIB chopMOBaHOCTI B
HEX IHIIOMOBHOI KOMYHIKATHBHOI KOMIIETEHTHOCT] 38 TAKOI TEXHOJIOTIEI0:

e 3aedanms Ne 1 (1-5) — xoxHmi IpaBUILHO Ai6panmil (pparMenT pedeHHs oniHeTECA B 1 6a;

° 3asdanns N 2 (6-10) — vorHa NPABAIBHO BUSHAYEHA BIATIOBIAHICTE ouiHoeTbed B 1 Gaur;

o 3aedanns Ne 3 (11-16) — xomuW NPaBWILHO BU3HAYEHWH (DparMeHT PEYEHHS OLIHIOETHCH B
1 6ax;

o 3aedanns Ne 4 (17-24) - xoxHe IPABUIBHO 0NOBHEHE PeYEHHA OUiHIOETECH B 1 6aur;

© 3aedanns N 5 (25)- mix uac OLiHIOBAHHA BPaXOBYIOTHCH ABa NOKasHUKM: 1) amicmose nanosHe-
s i 2) mosne ogopmaenns Tegery sucuosrenns. Ilin dac OniHIOBAHES 3MICTOBOTO HANOBHEHHSA i
MOBHOTO 0(hbopMIeHHS GepyThCA A0 yBar Taki HOKAsHUKH | BUSHAYAIOTECH Taki KpHTepii OIiHIOBAHHA:

© BiAUOBIAHICTH 3MiCTy BHCIOBIEHHS 3aNPONOHOBAHIN HABYANBHIN cuTyanii — 0-2 Gamxm;

© BHCBIT/IIEHHA y 3MiCT] BHC/IOBIEHHS BKA3AHHX IYHKTIB — 0-3 Gaum;

e 3p’g3HiCTH BHCIOB/ICHHS — 0-2 Gamm;

¢ HOPMATHBHICTH BHKOPHCTAHHS ¥ BUCIORJIEHH] IEKCHYHIX ONHHHIE — 0-2 Gamm;

¢ HODMATHBHICTL BHKODHCTaHH:A y BHCIOBJICHH] rpaMaTHdHuX gy — 0-2 6ama.

Maxcumanbia KinbkicTs (amis, fKy MOKYTh OTPHMATH y9YHI 3a BHKOHAHHA TECTOBHX 3aBJaHB,
craroBuThb 35 6axie. Bona nudepennioerses y Takuit croci6:

e 3apnanHa Ne 1 - 5 Gamxis;

o 3aBganss Ne 2 - 5 6amin;

e 3apzanHg Ne 3 — 6 6auie;

o zasjganss N 4 - 8 Ganis;

o sapnanasa Ne 5 — 11 Gaxis.
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Ta6munsa eignosigEOCTI HAGPAHMX TECTOBAX GaIiB
PiBHIO HABYAIBHHX [IOCATHEHE YIHIB

Kinericrs maGpanux 6axis 1-5 6-16 17-24 25-35
PiBeHs HaBYANBHHUX JocATHeHb | IlogaTkoBUit Cepepniit Tocraraii Bucoxmit
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1. Po6ory Haz KOMHHEM TECTOBHM 3aBJAHHAM PO3NOYUHANTE 3 JETAIHHOIO 03HANHOMIICHHS 3 IHCTPYK-
i€,

2. Bigmosigaiire muie micas Toro, sk Bu yBakuo npodnTany i 3po3yminu saBraHHA.

3. HamaraiiTecs BHKOHATH BCi 3aB/aHHs.

4. Bignosizi BomCyiiTe 9iTKO, JOTPHMYIOYHCH BEMOT 0 KOMKHOTO BUJY 3aBJAHHS.

5. Bigmosizi Ha saBganEs 1-4 Biucyiite y 30ipHUE, a II0TiM IIepeHeciTs y 61aHk BixmoBizgei.

6. 3aBanHs 5 BUKOHYyIiTe Ge3ocepesHbO y OIaHKy BiIIOBifei.

YacruHa «YarasHa»
(saedannsn Ne 1-Ns 3)

BuxoHyi0uu 3aBaaHHs miei yacTHHA Tecty, Bu nposeMoHCTpy€Te €BOE BMIHHA POSYMITH aHIIHCEKY
MOBy Ha MaTepianax pisHOMAHITHUX TEKCTIB 3 ABTEHTHIHAX JKEPeT.

1. IIpaBusnbHO posnopinsiire cBii yac. Ha BuxoHasus miel yacTuHY Tecty nepenbadeno He Ginbiue 22
(9, 71 6 BiAIOBIAHO) XBHIMH Bif 3aTANBHOTO YACY, Bi/BEJIEHOT0 HA BUKOHAHHS BCHOTO TECTY.

2. ¥ 3aedanni 3 eubopom o0wici npaeusvroi 6idnoeidi (No 1) cnouarky osmHadomTecs 3
iHCTPYKLiEI0 MO0 POGOTH 3 HAM. Y BAYKHO HPOYMTANTE TEKCT i TBEPAMKEHHHA 10 HBOTO, 8 MoTiM 06epiTh
TpaBUIbHAHN, Ha Bamty nymky, BapiasT Bifmosiai i3 90THpEOX IMOAAHEX.

3. ¥ 3aedanni na ecmanosnenms aidnoeionocmi (N: 2) crogatky osHaHoMTecs 3 iHCTPYKITi€0
mOz0 Po6OTH 3 HAM. YBA)KHO HPOYHTANTE OTOJOMIEHHA TA KOMEHTApi 0 HHX, 4 IOTIM [0 KOMHOrO
orozonteHHs 406epiTe NpaBuIbHAEH, Ha Bamnty nymky, xomenTap.

4. Y 3ae0anii Ha €CMAHOBAEHHA 6I0N0GIOHOCTNT MIdHC COYIOKYALMYPHUMU Peaniamu
ma noscuenuamu (komenmapsamu) (N 3) cnosarky osHaioMTecH 3 IHCTPYKIHEIO MO0 POGOTH 3
HuM. YBaXkHO IpPOYMTaiiTe NEPUIy YACTHHY DEYeHHd, 4 TOTIM i3 3aIpONOHOBAHWX BapiaHTiB ofepiTh
TpaBuIbHAN, Ha Bamy xymky, BapianT BignosigHOCTI.

5. fxmio Br He MozeTe BHKOHATH [I€BHE 3aBJAHHS, IEDEXOABTE 0 BAKOHAHHSA HACTYITHOTO.

Yacruaa «IImcsmo»
(3aedanns Ne 4-Ne 5)

Bukonyioun 3apiasea mjel yacTurE Tecty, Bu mpogeMoHCTpyeTe He IHINE CBOE BMIHHA PO3yMith i
BUKOPHCTOBYBATH AHINIHCHKY MOBY, 4 i yMiHHS CTBOPIOBATH BIACHE BHC/IOBIEHHS B IHCHMOBIiH hopmi.

1. ITpaBmmbHO posmofinaiTe cBii vac. Ha Buxonanus Imiei yactuay Tecry nepenbaseno ve Gimpmre 23
(8 1 15 BiANOBIAHO) XBHIHH Bijf 3araibHOTO 9acy, Bi//BEIEHOT0 HA BHKOHAHHA BCHOTO TECTY.

2. ¥ 3aedanni Ha 3anoeHenHs nponyckie (Ne 4) cnouarky o3HafioMTecs 3 IHCTPYKIHEIO MO0
po6oTH 3 HUM. YBaKHO IPOYHTANTE PEYEHH, & IOTIM 3aII0BHITH IIPOIYCKH B HHOMY HEOOXifHHMH, HA
Bamy symxy, rpaMaTHIHEME CTPYRTYPaMH a60 JTeKCHIHAME OfMHHLIAMH.

3. Ilepwt misse Hanucamu enacHe eucnosneHHs (sasfasHa Ne 5), yBaxHO IpodmTaiiTe
3aIIpONIOHOBAHY KOMYHIKaTHBHY CHTYAIIio Ta Te3H /10 Hel i mepexoHaiiTecs, mo B ii aposyminn.

4, TTuauriTe oxaiiHo Ta Poa6ipauBo.

2 Englsh, 10
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Ilanoeni 6amvru!

BeeyxpailHChKHIT MOHITOPHHET AKOCTI 3HAHE, yMiHBb i HABMIOK y4HiB 10-X Kacis IPOBOXUTHCA 3 METO
OLiHIOBAHHA CTAHy CHCTEMH 3aralbHOI CePeAHEOI OCBITH T4 OTPEMAHHS 00’6KTHBHHX JAHHX CTOCOBE
PiBHA HABYAIHHHUX JOCATHEHD IIKOIAPIB.

Meroi0 3a3HaYEHOTO 38X0Xy € BHABICHHT HABYAIBHHX NOCATHEHb Y4YHIB 1 3’ACYBAHHA KiIBK(
BAjKJIMBUX OCBITHIX IIUTAHE, & CaMe:

— §Ixi sHanHA 3700y7TH IECATHKIACHAKH 3 THX YH iHIIMX HABIATLHHX IPEIMETIB, IKOT0 PIBHA CATAI
iXHi 3araTbHOHABYANBH] BMIHHA?

— fxnii pisens iHTepecy 10 HaBuaHHA chopMOBaHO B yuHiB? [[0 AKHX IpeMeTiB HABYANIBHUM iHTED
GinbInmii, a 0 AKUX — HefrocTaTHiH?

—Yu BMiOTH y4HI aHAII3yBATH 3MiCT IIPOYMTAHUX TEKCTiB, POOUTH BHCHOBKH, BACIOBIIOBATH BIIAC]
CTaBJIEHHA JI0 IPOYHTAHOT0?

~"Uyu BMiloTh 3HAXOAWTM HecTAHJAPTHE DIleHHS B TPONeCi PO3E’A3aHAA HABYANGHUX 3aB/AH
camoCTiiHO MPAIIOBATH 3 MiPYYHAKOM, O3B’ A3yBATH 3a]adi, 3aIy9aTh J0AATKOBY iH(opMAITiio miyx |
BHKOHAHHA MPOGIEMHUX 3aBAHb?

—Uu eheKTHBHO POSIOALIAIOTE 3yCHILIA 1 Yac, BAKOHYIOYM HABYAIbHI 3aBIaHHA?

— I ronosre, un Hapummues Bami gite sacTocoByBarm 3100yTi 3HAHHA He IHIIE HAa YPOKAaX, a i
TIOBCAK/[EHHOMY KHTTi?

Vaacrs yuHA B MOHHTODHHIY JonoMoxe BumreneBi i Bam orpumarm 06’cKTHEE
indopmaniio mpo pesyasTaTH HOr0o HABYAHHS TA COPHATHME NIOJINIIEHHIO CHCTEMH
WiAroToBEYN MAWGYTHIX BHIyCKHHKIB 0 ZepiKaBHOI IiICyMKOBOI aTecTamii Ta 30BHINIHLO]
HEe3aJIeKHOT0 oiHoBaHHA. 3a Bammm GamanuaM MOKHA 3KIACHATH HOPIiBHAILHAN AHAI
HaBYANHHHUX JOCATHEHb YYHS 3 Bi{IOBITHAMH JOCATHEHHAMH OJHOKJIACHHUKIB Ta JOIOMOI'
30PiEHTYBATHCS IO/I0 BAOCKOHAIEHHS IO IbIIO] HABIAMGHOI POGOTH ITKOIAPA.

Bix Toro, axoro pisHs 3HaHL AocArHe Bamia guTHHA B IIKOI, 3aleXuTH ii mojambmie mpodecii
HagdaHsd i gopocre smurrd. O6’eKTHBHI pesyIbTaTH MOHITOPHHTY CHPHATHMYTh 320X0YEHHIO IITKOJIA]
JI0 HABYAHH, ONOMOKYTh HOMY 3POSyMITH, 1110 HABYAHHA — 1€ Ly¥e BAKIHBA | 3HATYIIA YACTHHA IEO
nepioxy murTa. Bama sarikasnenicTs i ApyHA ZoIOMOra y IpOBEIEHH] MOHITOPHHTY AOLALYTh JATH
HACHATH Ta BIIEBHEHOCTI B €00l y Iponeci HaBuambHOI JiATBHOCTI.
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BapianT 1

Task 1. Read the passage and answer the questions 1-5 (only one answer is
possible).

OLYMPIC GAMES

In 776 BC the first Olympic Games were held at the foot of Mount Olympus to honour the Greeks’
chief god, Zeus. The Greeks paid much attention to physical fitness and strength in their education
of youth. That is why contests in running, jumping, discus and javelin throwing, boxing, and horse
and chariot racing were held in individual cities, and the winners competed every four years at Mount
Olympus.

Olympic athletes had to be men of Greek nationality and not slaves. Winners were greatly ho-
noured. People put olive wreaths on their heads, sang songs and wrote poems about their achievements.
Originally Olympic Games were held as games of friendship, and any wars were stopped to allow the
games to take place.

The games were so important to the Greeks that they calculated time in four-year cycles called
“Olympiads” dating from 776 BC.

1. Which of the following is NOT true?

A Winners put olive wreaths on their own heads. D
B The games were held in Greece every four years.

C Battles were interrupted to take part in the games.

D Only Greek men could take part in the Games.

2. Why were the Olympic Games held?

A to stop wars D
B to honour the best athletes

C to honour Zeus

D to sing songs about the athletes

3. How many years ago did these games begin?

A 776 years

B 2,277 years
C 1,237 years
D 2,789 years

4. Which of the following contests was not mentioned?

A discus throwing D
B skating

C boxing

D running

5. What conclusion can we make about the ancient Greeks?
A They liked to fight. ) O
B They were very athletic.

C They liked a lot of ceremony.
D They couldn’t count, so they used “Olympiads” for dates.

0.C. Iaciuauk, M.H. Illomyako, M.C. Tpidan, C.0. Mensuux

S
0}
—
f |
)
=
M





[image: image7.jpg]Task 2. Match statements (6-10) to the notices (A-G).

6. Phone this person if you want to work with cars.

7. You cannot use your phone.

8. People here do not understand English very well.

9. If you find what this person is looking for, you will get money.
10. You have to use stairs.

[A]Only French and German [B]Turn off your mobiles ] weln(i:l;?:cn;:;raiie q
spoken here/\ during the lesso}K e
[D|Mechanic needed. [E]Lost passport.
. Call garage manager Name Harrison Boyd.
(Fred Bagging 790878767) £50 Reward for safe return.

Phone 6798909.

[F]Elevator J [G]Tap water is safe to
OUT OF OR% drink here

Task 3. For beginnings 11-16 choose the correct endings A—J. There are four
choices you do not need to use.
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11. Buckingham Palace ... D A is in the centre of Trafalgar Square in London.

12. Yellowstone National Park ... D B is one of the largest parks in central London, famous for
its Speakers’ Corner.

13. Nelson’s column ... [] C is a pencil-like obelisk.

14. The Washington Monument ... D D is the home of the British queen.

15. The London Eye :.. D E is an American national monument built to honour the
16th President of the United States.

16. The White House ... I:‘ F is the first and the most famous national park in the USA

D G is the largest observation wheel in the world.

D H is the traditional place of coronation and burial site for
British monarchs.
l:l I is the home of the President of the United States.

O J is in Scotland.

Emglish

Task 4. Choose the correct answer A-D.

17. He was D to go to work, so he stayed at home.

A very ill
Bsoill

C too ill

D ill enough





[image: image8.jpg]18. D you show them the photographs, they’ll never believe you.

A Whether
B Despite
C Unless
D If not

19. I'm sorry, I D to get to change that money for you, I was too busy.

A couldn’t

B didn’t manage

C weren’t able _

D haven"t managed

20. If they D some assistance, they ... .

A would want, would ask
B want, would ask

C want, will ask

D would want, will ask

21. New York is D polluted than Athens.

A the most

B more

C much g
D little

22. It was named D her daughter.

A for
Bin

C after
D behind

23. The Beatles were an D band.

A amazed

B amazing

C amazes

D have amazed

24. Matt is the boy D father is a teacher.

A who
B which

C whose
D whom

Task 5. Writing (50-60 words). |
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Emnglish

25. There is a teacher from the USA in your school. He is going to organize an English-speaking club
for students and asked you to write a note. Include the following information:

e who is organizing the club;

* how often the club will meet;

e activities;

e number of students in a group.
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KOHTPOJIbHA POGOTA

BapiaHT 2

Task 1. Read the passage and answer the questions 1-5 (only one answer
possible).

MOUNT RUSHMORE

In 1923, a man named Doane Robinson had an idea. He wanted to have a large sculpture made
the Mount Rushmore. As he lived in the South Dakota and was interested in his state’s history,
thought the sculpture should show heroes of the West, like Lewis and Clark or Indian chiefs. Rob:
son found Gutzon Borglum, an artist to make the sculpture. But Borglum had a different idea for t
sculpture. He thought the sculpture should have American presidents and symbolize American idea
freedom.

First the artist designed a small model of the sculpture. Then in 1927, he began to work on t.
mountain. Over 400 men assisted him. They built stairs to the top of the rock cliff, destroyed the ro
with dynamite and carved it. On October 31, 1941, the sculpture was done. But Gutzon Borglum ney.
saw the finished sculpture. He died less than a year before it was done. His son helped finish the j¢
The sculpture has the faces of four presidents on it. The presidents are George Washington, Thom
Jefferson, Theodore Roosevelt, and Abraham Lincoln. Gutzon Borglum would be proud to know th
Mount Rushmore is now a national memorial.

1. What kind of heroes did Doane Robinson want the new sculpture to have? !
A heroes of the West. [
B book heroes
C presidents of the United States
D famous sports heroes

2. Who designed the Mount Rushmore sculpture?

A Doane Robinson [
B Gutzon Borglum

C Richard Rushmore

D South Dakota

3. How long did it take to complete the sculpture?
A 41 year |:
B 27 years
C 18 years
D 14 years

4. What happened less than a year before the Mount Rushmore sculpture was done?

A There was no money to finish it.

B The workers stopped working on the sculpture.
C The sculpture was destroyed.

D Gutzon Borglum died.

5. What is the synonym for sculpture?

A picture |._.
B mountain
C statue

10
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6. Boys will not get this work.

7. You do not have to be late.

8. Not all people may call from here.

9. You must pay before travelling.
10. Put it in a cold place.

[A]Do not get on the train School trip to Science
without a ticket [B]Clothes shop requires an Museum.
assistant. Girls only. No experience Bus leaves Friday 8 am
D Ticket office closed. Buy| needed, Send ym:i‘CVu‘i) Tary..
> # bunks@yahoo.uk — _W
your ticket on the train. i A @Bookshop — closed
. el i
Friday aftern%
Telephone for customers’ [F|Keep in fridge after
use only By opening o

Task 3. For beginnings 11-16 choose the correct endings A—J. There are four
choices you do not need to use.,
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11. Thanksgiving, or Thanksgiving D A is thought to be the one night of the year when ghosts,
Day ... witches, and fairies are especially active.
12. The Day of Independence on D B is celebrated in England on November 5th with fireworks
July 4th ... and bonfires.
13. Halloween ... D C traditionally celebrates the giving thanks for the autumn
harvest.
14. Labour Day ... l:‘ D is celebrated in America with parades, shows, bonfires
and firework displays.
15. Gay Fawkes’ Night ... I:l E is an American public holiday when Christopher
Columbus is honoured.
F is the day when people brighten up their homes with

16. Columbus Day (Discovery Day) L__‘
evergreens.
D G is the day when people express their love for each other
by sending Valentine’s cards.
D H is the day when America was discovered by Europeans.

D I is the first Monday in September and includes picnics,
games and activities for children.
D J is celebrated on the second Sunday in May.

Emglish

Task 4. Choose the correct answer A-D.

17. I didn’t like the film. I thought it was very D

A bore
B bored
C bores
D boring

1





[image: image11.jpg]18. Tidy up your room, it’s so D!
A bright
B messy
C dark
D clean

19. Was he the man E] phoned you?

A whose
B who
C what
D which
20. T couldn’t sleep because of the [ wind.
A heavy
.B howling

C shaking
D dangerous

21. Do you know if your school sports club is inviting any new members? John D to join it, so I s:
I would ask.
A is liking
B had liked -
C would like
D has been liking

22. 1 believe mobile phones D change the way we live.
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A certainly could
B will definitely
C may definitely
D can definitely

23. D decided to participate in the competition.

A Everybody of them
B All the group

C Every people

D Each people

24. D in Europe are excited about the Football World Cup.

A Each country

B Every country

C The whole country
D All the countries

Task 5. Writing (50-60 words).

25. This weekend your school is organizing an Eco-Saturday when students have to clean the territ
of a local park. Write a note and inform your school-mates of the following:

o describe condition of the park;

o when the event will be held;

o necessary clothes and equipment;
» duties — what students have to do.

Emglish

12




[image: image12.jpg]KOHTPOIIbHA POBEOTA

BapiaHnT 3

Task 1. Read the passage and answer the questions 1-5 (only one answer is
possible).

ALFRED NOBEL

When Alfred Nobel invented dynamite he became a very rich man. However, he understood destruc-
tive power of his invention too late. Nobel did not want to be remembered as the inventor of dynamite,
so in 1895 he created a fund to award prizes to people who made important contributions to mankind.
Originally there were five awards: literature, physics, chemistry, medicine, and peace. Economics was
added in 1968, sixty-seven years after the first award ceremony.

Every year on December 10, the anniversary of Nobel’s death, the awards (gold medal, diploma,
and money) are presented to the winners. Now the awards are usually from $1,000,000 to $1,400,000.

Sometimes politics plays an important role in the judges’ decisions. Americans have won numer-
ous science awards, but very few literature prizes. No awards were presented from 1940 to 1942 at the
beginning of the World War II. Some people have won two prizes, but this is rare, others have shared
their prizes.

1. When did the first award ceremony take place?

A 1895 |:|
B 1901
C 1961
D 1968

2. Why was the Nobel Prize established?

A to recognize important contributions to humanity
B to solve political problems

C to honour the inventor of dynamite

D to spend money

3. In which area have Americans received the most awards?

A literature D
B economics

C peace

D science

4. Which of the following statements is NOT true?

A No one received awards from 1940 till 1942. D
B Ceremonies are held on December 10 to honour Nobel’s invention.

C Politics can play an important role in selecting the winners.

D A few people have won two awards.

5. In how many fields are prizes awarded?

A2
B5
C6
D10
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[image: image13.jpg]Task 2. Match statements (6-10) to the notices (A-G).

6. You mustn’t give food to animals here.
7. You may leave your younger brother or sister here and go shopping.
8. Go upstairs if you want a drink.
9. Your younger brother or sister cannot play with it.
10. If you get this job you will serve food.

Coffee machine — second [B|Waiter needed for fast food [C]Use our childre:
floor restaurant. Work evenings until playground and enj

late at night and weekends. your shopping
Telephone: 646329847

[E|Please, do not feed
the horses
=
[F|This device is not a toy. [GlOnly club members may
Keep away from children. enter

Task 3. For beginnings 11-16 choose the correct endings A—J. There are f
choices you do not need to use.

11. Jack London ...

[D]doe’s Fruit Farm. Summer
jobs for students.
Cash paid for all jobs.
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A is known for his stories of American frontier life and pio
adventures.

12. JK. Rowling ... is the author of anti-slaver novel Uncle Tom’s Cabin.

13. Charles Dickens ... is the American writer and the author of a remarkable s
Love of Life.

B
C
D is an author of the Harry Potter books.
E was the first president of the USA

F is the author of the best-loved novels in the English lan;
(Oliver Twist, David Copperfield).

G professional actor and play writer, founded a theatre and
37 plays.

H is the author of The Adventures of Tom Sawyer.

I was the first Englishman who was awarded the Nobel prize
literature.
D J issued a proclamation to say that slavery was abolished.

14. W. Shakespeare ...
15. Abraham Lincoln ...
16. George Washington ...

English
OO0oOoo0odoono

Task 4. Choose the correct answer A-D.

17, D sportsmen need to train a lot.

A Every B Each
C Either D All

14




[image: image14.jpg]18. There is D darkness in this painting, don’t you think?

A too much
B too many
Calot
Dafew

19. Please don’t forget to give me a call when you D to school?

A will get

C are going to get
B get

D are getting

20. I'm sure I would have regretted it if T D to take part in the play.

A would have agreed
C did agree

B would agree

D had agreed

21. The car D they bought is new.

A what

B who

C which
D whose

22. Nicole used to D ballet classes.
A take
B taking
C takes
D has been taking

23. The Beatles D in 1970.

A broke down

B broke off

C broke up

D had broken down

24. U2’s music will D forever.
Ago
B last
C reach
D continue

Task 5. Writing (50-60 words). )
25. You are on a holiday in another country. Write a quick e-mail to your friend and tell him/her:
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o where you are staying and what is the weather like;
e what you have done these days;

o any places of interest there;

o when you are going to come back.

15
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KOHTPONbHA POBOTA

BapiaHT 4

Task 1. Read the passage and answer the questions 1-5 (only one ans'
possible).

THE INTERNET

Did you ever think of how the Internet started? In the 1960s the US government had the i
connect some of its computers together. That way, the computers could exchange information.
tists spent several years working on the project. It was difficult, because computers in different
had never been connected together before. Finally, in 1969 four computers were connected wit]
of telephone lines. Three computers were in California. They were in different cities. The fourth
puter was far away in another state — in Utah. This was the beginning of the Internet.

Soon many more computers were linked to the Internet. In the 1980s, small, inexpensive c
‘ters were invented. But few people linked their home computers to the Internet. That’s because
had to type in complicated codes.

In 1991, the World Wide Web was created. It helped make the Internet easier to use. But peop!
had to know some codes. In 1992 a new computer program Mosaic was invented. People no longe
to know codes to use the World Wide Web. The new program let people click on words and pic
Then almost anyone could use the Internet.

1. What is NOT true according to the text?

A Government computers - were in different states.
B At first only four computers were connected.

C Computer in Utah was far away and did not work.
D Computers were linked by telephone lines.

2. When were the first government computers connected together?

A 1950
B 1955
C 1992
D 1969

3. Why did it take several years to link the four computers together?
A The computers didn’t work well.
B Scientists were working on other projects.
C People didn’t know how to link computers.
D The telephone lines had to be built.

4. Why did it take so long to connect home computers to the Internet?

A The Internet was difficult to use at first.
B There weren’t enough computers.

C People didn’t have enough money.

D People lived too far from the government.

5. What happened when Mosaic was invented?

A It was easier to use Internet for people.

B People had to learn new codes to use the Internet.
C The World Wide Web was created.

D People could create pictures for the Internet.

16
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6. If you need money you have to go to another place.
7. If you are not careful, you might fall.
8. You cannot leave the bicycle here.
9. Here you can learn a foreign language abroad.
10. You pay the same price, but get more.
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[A]Rent bicycies. Adults — £4. Orange juice. [C]Under reconstruction.
Children - £3/\ 10% extra FREE./\ Please use &mof:herdﬂk
[DlIce on road. [E|Learn Spanish in Spain. Madrid
Pay attention while walking. summer school. Apply by mail
apply@summerschool.es
e
[F]No bicycles against Cash machine not working.
the school fence Nearest machine in Chaplin
- Street. o
Task 3. For beginnings 11-16 choose the correct endings A—J. There are four
choices you do not need to use.
11. The English say, “My home ... D A is separated from the continent by the English
Channel.

"

12. The English proverb says, is America’s best known soft drink.

“East or west ...
13. The UK ...

14. An afternoon tea in Britain ...
15. The spectacular Niagara Falls ...
16. An eagle ...

is washed by the Pacific Ocean.

is my castle”.

is to know nothing.”

home is best”.

is the official symbol of the USA.

consists of two parts which are separated by Goat
Island.
is the oldest paper in Britain.
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is between 4 and 5 o’clock.
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Task 4, Choose the correct answer A-D.

17. D car is that green one there?
A Who
B Who's
C Whose
D Which

17





[image: image17.jpg]18. I don’t have D money to buy a new computer.

A too much
B very much
C enough

D little

19. Would you like a D with your apple?

A bread

B sandwich
* C cheese

D soup

20. Simon insisted D paying for the meal for all of us.
Ain
* Cto
B for
Don

21. Jake is very good at sport D his twin brother Edward is not interested in it at all.

A whenever

C despite -
B since

D while

22. The buildings were D from side to side.
A cracking
B rocking
C flying
D waving

23, Will you L the match on TV tomorrow night?

A watch
B look

C see

D listen to

24. T heard the police |:| dozens of people before they made an arrest.

A were interviewed

B have been interviewing
C had interviewed

D was interviewed

Task 5. Writing (50-60 words).
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English

25. Recently you visited your foreign friend in his/her countr}. Now you want him/her to visit yo
‘Write a letter to him/her and include the following information:

thank him/her for inviting you;

tell what you liked most in his/her country;

suggest the best time to visit you;
tell him/her what you will show him/her in Ukraine.

18
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Task 1. Read the passage and answer the questions 1-5 (only one answer is
possible).

THE STORY OF A TEDDY BEAR

Have you ever thought why the popular toy bear is called a teddy bear? Here is the true story. On
November 14, 1902, Theodore Roosevelt, the 26th President of the USA wanted to relax after some
hard political debates. He went on a hunting trip to a forest in Mississippi. There he saw a little bear
cub, but he refused to shoot it.

Very soon journalists learned about this and one of them made a political cartoon. It showed the
President and a little bear. The idea of the cartoon was to show that the President is an understanding
and kind person who doesn’t make wrong decisions. The cartoon was printed in all the newspapers and
President Roosevelt’s popularity grew even more. For the rest of his political career little bear was the
symbol of President Roosevelt. It was used during the successful election campaign of 1905.

Shop owner, Mr. Mitchom, had a clever idea. He used the cartoon as a guide to design a toy bear. He
called the toy “Teddy’s Bear” (Teddy is short for Theodore). People liked the toy and bought a lot of
them. It became so popular that in a year Mr. Mitchom closed his shop and founded the Ideal Novelty
and Toy Company, which was the largest bear factory in the United States and still is one of the big-
gest toy companies in the world today.

1. Why did the President decide to go hunting?

A He wanted to shoot some animals. D
B The President wanted to have a rest.

C Journalists wanted to take a photo of him in the forest.

D He wanted to see a bear cub.

2. Why was the cartoon created?
A to show positive qualities of the President
B to solve political debates
C to entertain people
D to make money

3. What happened when the cartoon with the President was printed?

A Theodore Roosevelt became more popular. D
B The journalist lost his job.

C People stopped hunting bears.

D The bear became the symbol of a newspaper.

4. Why did Mr. Mitchom close his shop?
A He decided to start a new business. l:‘
B People did not want to buy things in his shop.
C He wanted to become a politician.
D He decided to retire.

5. What is NOT true according to the text?

A The President went hunting in autumn.

B The President didn’t shoot the bear.

C Teddy is short name for Theodore.

D Mr. Mitchom designed the toy bear before the cartoon was printed.

19
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[image: image23.jpg]Task 2. Match statements (6-10) to the notices (A-G).

6. You do not have to be late.

7. If you lost a book call this number.

8. Children older than ten years have to pay.

9. Parents are looking for someone to look after their child.
10. This is only for young people.

[A]Swimming pool: Little Donny needs a babysitter.
CHILDREN ONLY Work: Saturday and Sunday evening.
Contact us by phone: 98778676.
[D]School trip to Science
Museum. Bus leaves Friday 8 am

[GIBookshop - closed Friday
afternoon

[ClDictionary found. Phone
: Simon (6798809) to get it back.
Y

[E]Lost black cat. ®200; Free entrance for
£100 reward. Phone any time children under 10
67890790. Ask Lanny.
.

Task 3. For beginnings 11-16 choose the correct endings A—J. There are for
choices you do not need to use.
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11. Coca Cola ... D A is a favourite dish on American tables.

12. Classical apple pie ... D B like home”.

13. Potato chips ... D C is the number one drink in Britain and t]
average person has about four cups a day.

14. The English say, “An apple a day ... D became America’s favourite between-mx
snack in the 19th century.

15. Hamburger ... D E keeps doctors away”.

16. The Englishmen say, “There is no place ... D F comes with eating”.
D G is America’s best known soft drink.
D H is America’s favourite hot sandwich.
D I isasausage in a long bread roll.

Emglish

D J were great favourites in Victorian England.

Task 4. Choose the correct answer A-D.

17. My sister and her boyfriend are getting D next year.

A marry
B marries
C marrying

20




[image: image24.jpg]18. We moved to this city three years D

19.

20.

21.

A ago
B behind
C last
D passed

Have you D met a famous person?
A yet
B still

C ever
D only

You’re so late! What D you?

A kept

B is keeping’
C was keeping
D has kept

A too much

B too many &
C more

D a great number

22. Both of my brothers D playing basketball.

23.

A likes

B are liking
C like

D don’t like

Tom was cooking l:l I telephoned.

A what

B when
C which
D whom

24. The bus stop is not far D our house.

25. .Your friend invited you to his/her birthday party, but this time you cannot come. Write an e-mail

A away
B from
C off
D out

Task 5. Writing (50-60 words).

to him/her. Include the following information:

thank him/her for inviting you;
explain why you cannot come;
congratulate him/her;

21

There is D furniture in this room so we can’t dance here.

tell when you will be able to come to him/her and congratulate in person.
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KOHTPOINbHA POBOTA

BapiaHnT 6

Task 1. Read the passage and answer the questions 1-5 (only one answer
possible).

CHRISTOPHER COLUMBUS

Christopher Columbus was born in Genoa, Italy in 1451. As a teenager he travelled the seas
thought that the earth was round. He believed that people could get to India if they travelled to t!
west. He asked the kings of Portugal, France and England to finance his westward trip to India,
all of them refused. After ten years King Ferdinand and Queen Isabella of Spain agreed to fin:
Columbus in the hopes to get great wealth. On August 3, 1492, Columbus and three ships, the Ni;
Pinta, and Santa Maria left Spain and travelled to the west. The sailors were afraid of sea mons
and didn’t want to travel. Columbus offered a reward for the first person to see the land. On Octol
12 a crew member aboard the Pinta saw one of the Bahama Islands. He named the land San Salvad

Columbus didn’t find the riches he expected, and continued to look for India. He visited Cuba
Hispaniola (Dominican Republic). He met native peoples who he named “Indians” because he believ:
they were inhabitants of India. Columbus returned to Spain a hero. He made one of the greatest di
coveries in the history of the world — North America. Though he probably wasn’t the first explorer
see the continent, he believed yntil his death that the islands he saw were in the Asian continent.

1. Who supported Columbus’ westward trip?

A the king of Portugal

B the king and the queen of Spain

C the king of Italy

D the king of France and the Queen of England

2. Which of the following was NOT the ship of Columbus?

A the Pinta
B the Niha
C the Santa Maria
D the San Salvador

3. How old was Columbus when he discovered America?

A 41
B35
C 51
D60

4. What happened last?

A October 12, 1492.

B King Fedinand and Queen Isabell agreed to pay for the trip.
C Columbus left Spain on his ships.

D Columbus asked the kings to finance his voyage.

5. What is TRUE according to the text?

A Columbus is the first person who discovered America.

B Columbus was Spanish.

C The sailors were afraid to travel with Columbus.

D Columbus was happy to know that he discovered America.
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6. This place is locked at night.
7. You will need your raincoat and umbrella.
8. In the evening children cannot stay in this place.
9. If you need an umbrella you have to pay for it.
10. Call this person if you need someone to help you organize your birthday.

[AlOpen 24 hours idij [B]Today’s weather: strong i [ClAfter 8 pm persons '
wind, rain, temperaturj% under 16 NOT to e%
@_]Organize parties and activities. [ElTry our home made bread
Help with cooking. Vanessa and cookies
699076567

Beach umbrellas for hire [FIDoor locked after 10 pm.
Ask for key before going out.

Task 3. For beginnings 11-16 choose the correct endings A—J. There are four
choices you do not need to use.

=
=
-
A
=]
)
=
S
&}
El
o
&
Q
=
:
>
=]
=]
=]
.
=
&
=
o)
o
(=1
g
o

11. Ben Nevis is ... D A in the countries of the British Commonwealth.

12. Edinburgh is ... D B in a stony house in Dublin, Ireland

13. Boxing Day is celebrated ... El C don’t carry guns.

14. The most famous shop in London is ... ]:] D the highest mountain in Great Britain, standing
at 1,344 metres above sea level.

15. William Shakespeare was born in ... D E always carry guns.

16. Policemen in England ... D F Harrods that offers everything from food to
fashion.

G a half-timbered house situated in Henley Street
in Stratford-upon-Avon, England.
D H the capital of Scotland, one of the most beautiful
cities in Europe.
D I only in the UK and Ireland.

[:l J the biggest lake in Britain, which covers an area
of 71 square kilometres.

Emglish

Task 4. Choose the correct answer A-D.

17. My cousin D on the ice and broke his leg.

A felt

B fallen
C fell

D did fell
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[image: image27.jpg]18. Is that dress D?

A you

B your

C yours

D yourself

19. She’s worked here D five years.

A since
B for
C from
Din

20. Are you D get up soon?
A will
Bbe
C goto
D going to

21. My brother wants D an actor.

A become

B becoming

C to become

D for becoming

92; o you mied [ 1 open thiswindow?

A when
Bif

C that
D how

23. Angela D lots of clothes so far.
A bought
B buys
C has bought
D is buying
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o3 24. Jane wants to tennis this summer.
% A take back
B take up
S C take off
[m D take down

Task 5. Writing (50-60 words).

25. Your foreign friend has asked you to tell him/her about you music tastes. Write a letter to him/her
and say:

o your favorite style of music;

o favorite singer;

o tell him/her if you can play any musical instruments;
e when you usually listen to music.
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Task 1. Read the passage and answer the questions 1-5 (only one answer is
possible).

MARIE CURIE

Marie Curie was born in Poland in 1867. As a young girl, she loved science and math. After school
she wanted to attend college. But women weren’t allowed to go there. So, Curie studied science and
math on her own.

Later, Curie moved to France. She was able to go to a college there. The college was called Sorbonne
University. Other students knew more about science and math than Curie did. So she studied hard and
was the best student in her group. Later she married a scientist. His name was Pierre. After college
Curie became interested in a new type of energy. It is called radioactivity. She wanted to know more
about radioactivity and how it could be used. Curie worked with radioactive substances. In 1903 Curie
got a Nobel Prize for her work in radioactivity. She was the first woman to get it.

In 1906 Curie started teaching at Sorbonne. She was the first woman teacher there. Curie was also
the first person to have a second Nobel Prize. She got it because she discovered two new substances:
polonium and radium. After that Curie helped start the Radium Institute. Scientists and doctors
worked at the Institute. They studied radioactivity. They also used radium to treat cancer patients.
Curie worked at the Institute until she died in 1934.

1. Why did Marie Curie study science and math on her own after school?

A She didn’t like being at school. D
B Women couldn’t go to college in Poland.

C She did not finish school.

D She lived too far from college.

2. What two things did Curie do at Sorbonne University?

A She went to college there and later taught at the university.
B She went to college and married Pierre.

C She went to college there but was unable to graduate.

D She protested that women could not attend that college.

3. What is radioactivity?

A anew substance D
B a type of college
C a type of energy
D a kind of science

4. How old was Marie Curie when she died?

A3 Be7 O
c32 D43

5. What is NOT true about Marie Curie?
A She was the first woman to get a Nobel Prize. D

B She was the first person to get two Nobel Prizes.
C She was the first woman who studied at Sorbonne University.
D She was the first woman to teach at the Sorbonne.
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[image: image29.jpg]Task 2. Match statements (6-10) to the notices (A-G).

6. Students pay less here.
7. If you keep a book longer you will have to pay money.
8. If you need a job phone this number.
9. It is cheaper if you buy several of them.
10. You mustn’t take too many clothes to try on.

[A]Cleaner-wanted. [B|Swimming Pool. [C]Levis Jeans.
Will pay 6$ per hour. Use your student’s card to No more than 3 pairs in
Call 9808907. get a 50% discount. the changing room.

[D]|This June. Buy 5 bottles of

milk and get one %

[F|School uniform [GIBooks must be returned
department — second floor in 10 days. Fine - £1 per day
—-"

Task 3. For beginnings 11-16 choose the correct endings A-J. There are four
choices you do not need to use.
11. 10 Downing Street is known as ... D A the highest mountain in Wales, standing

at 1,085 metres above sea level.
B an oven-roasted turkey.

C the official residence of the British Prime
Minister.
D Wales.

E Member of the Parliament in Britain.
F in Oxford, a home to royalty and scholars.

[E]Student library. Return books
to shelves after use.
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12. The oldest university in the UK is situated ...
13. Snowdon is ...

14. The most traditional Christmas dish is ...
15. Cardiff is the capital of ...
16. Margaret Thatcher is the first lady ...

G mustard, lemon and rosemary roast
chicken.

H Prime Minister in Britain.

I in London, the capital of the country.

J Scotland.

O0o0o Ooooo od

Emnglish

Task 4. Choose the correct answer A-D.

17. - “That’s the new manager, D?"

— “Yes, that’s him.”
Aishe
Bisn'tit
Cisit
Disn’t he

B 2 26





[image: image30.jpg]18. My mother entered University after D school.

A left

B has left
C to leave
D leaving

19. I don’t know l:l people at this party, do you?

A much
B many
C few
D less

20. We met a girl D father was a diver.

A which
B that
C whose
D who

21. Annie D the rubbish away yet.

A threw
B hasn’t thrown -
C thrown

D had throw

22. John D over to the side of the road to have a rest.

A handed
B came
C pulled
D crossed

23. D teenagers know how to use the Net.

A Each

B Every
C Most
D Most of

24. 1didn’t like the film I thought it was very D

A bore
B bored
C bores
D boring

Task 5. Writing (50-60 words).

25. Recently you watched a film and now you want to write an e-mail to your friend about it. Include
the following information:

where you watched the film;

who played the main role; ;
what the film was about;

if you liked the film.
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Task 1. Read the passage and answer the questions 1-5 (only one answer is
possible).

WILLIAM SHAKESPEARE

William Shakespeare, the greatest English writer of drama, was born in 1564 in Stratford-on-Avon.
‘We do not know everything about Shakespeare’s early life. But we know that he studied at the Gram-
mar School in Stratford, and that he became interested in the theatre when he was still a boy. In 1586
Shakespeare went to London, where he worked in the theatre for some years before he began to write
his own plays. Shakespeare soon became well-known in London literary circles. Every play that he
wrote was good news to the people of the capital. Queen Elizabeth I liked Shakespeare’s plays, and the
actors were often invited to play before the Queen and later before the King James — a great honour
in those days. By the end of the 16 century Shakespeare and his friends had enough money to build
their own theatre — the famous Globe Theatre.

But Shakespeare had quite many difficulties in his life. Less talented writers, whose plays were
worse than his, often quarreled with Shakespeare and attacked him, the actors in his own theatre
sometimes turned against him. Now people in many countries love and honour Shakespeare for his
plays, comedies and tragedies that are still modern and well-known all over the world.

1. Shakespeare was especially good at ... .

A novels D
B detective stories

C mystery plays

D dramas

2. What is the WRONG statement?

A In his childhood Shakespeare got interested in the theatre. |:|
B The King and Queen of England liked his plays.

C Shakespeare was widely known for his Globe Theatre.

D Shakespeare had difficulties in his life.

3. What kind of man was Shakespeare?

A He was a man who liked to quarrel with people. D
B He was a man who was fond of collecting money.

C He was a man who tried to perform only in the king’s palace.

D He was a man who wrote many plays and acted himself.

4. Why do you think Shakespeare is well-known throughout the world?

A He was an English writer. D
B His actors disliked him.

C He built his own theatre.

D He wrote a lot of brilliant plays.

5. The text is about ...

A the life of English people in Shakespeare’s time. D
B the queen’s and king’s life.

C the life of a famous British play writer.

D the writers who lived in England in the 16th century.
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6. Contact this person if you play music and want to work with music.
7. You cannot have lunch here.
8. You have to wait here before you sit down.
9. You are too late to get a seat in the show.
10. You cannot be here on Saturday.

[Al Computer room —
no food or drinks inside

[C|Please wait for the waitress
to show you to your seats

[B Learn to play guitar in
5 months. Video course —
£40. Order by mail

[D|New night club opening. [E]Café Santos. [F]U2 concert. Sorry.
Experienced DJ WANTED. Open weekdays. 8 am till 5 pm All tickets sold.
Write to Mike Swan at —— —

mlbnd@musicworld.uk

 [G]Please show the ticket
at the museum entrance

Task 3. For beginnings 11-16 choose the correct endings A—J. There are four
choices you do not need to use.

0.C. Iaciuauk, M.H. lonyaxo, M.C. Tpidan, C.0. MeabHEK

11. A double-decker s ... D France in recognition of international friendship
in 1986.
12. The Statue of Liberty was presented to D Tony Blair.

|

the USA by ...
13. The current Prime Minister of Britain D
ABeme
14. The legend says that the Tower of D
London will fall without ...
15. The Tube is the London ...

16. The kilt is the national ...

doves (small white pigeons often used as a sign of
peace).

a red bus often used for touring rather than for
mass transit in London.

costume traditionally worn by Scottish men.

5 U a ®w »

F David Cameron.

G underground which carries more than one billion
passengers a year.
H ravens (large shiny black birds).

I musical instrument the Scottish people play.
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J asandwich with fried egg, tomato and cucumber.

Task 4. Choose the correct answer A-D.

17. - “You’re at home so early.”

— “Well, there D nobody at the lecture so I left.”
A wasn’t

B were

C weren’t

D was
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[image: image33.jpg]18. I play basketball twice D week.

Aa

B the

C in the
Dfora

19. He expects D his English test.

A I would pass
B passing

C to pass

D1 pass

20. We're going to a mountain D

A resort
B caravan
C facility
D rest

21. We've already tried the D dishes.
A village
B town ®
C local
D city
22. 1 tune D to Radio 2 every morning.
Aon
Bin
Cup
D behind
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23. She taught D how to use a computer.
A herself
B himself
C myself
D themself

24. He [:, me of my uncle.
A looks
B reminds

C remembers
D tells

Task 5. Writing (50-60 words).

25. Your foreign friend is learning Spanish at school. He/she says that it is difficult for him/her and
wants to improve it. Write a letter to him/her and give some advice on how the following can be
helpful:

o take extra classes;

« spend time watching Spanish films and reading Spanish magazines;

e try not to be afraid of making mistakes;

o chat with Spanish friends.
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Task 1. Read the passage and answer the questions 1-5 (only one answer is
possible).
WORKING ABROAD

Jonathan Palmer, 40, is a graphic designer from England. He moved to Germany four years ago and
started his own adveitising company. He says that Germany is a good place to work in advertising be-
cause the Germans think the British are very creative.

Jonathan had studied graphic design in England and had worked for eleven years in companies
around the country. But he wanted a different lifestyle and decided to look for work abroad. He admits
that his poor level of German was a big problem, although before moving to Germany he had attended
six-month language ‘courses. But even after that he couldn’t speak the language well. He says that if
you want to get a good job in another country, you have to be able to speak the language well. Why did
he go to Germany? Jonathan says that nowadays many people from the UK are leaving their country
in large numbers because they want to work abroad. In the past most of them headed for English-spea-
king countries like Australia and America. Now, thanks to new work regulations it is easier to work in
any country of Europe.

Another problem he had there was getting used to new traffic rules as in Britain you have to drive
on your left while in other countries of Europe you have to do it on the right.

1. Before moving to Germany Jonathan Palmer ...

A had learned the German language at University. D
B had worked in different places.

C had his own advertising company.

D had lived in Australia and America.

2. Jonathan Palmer decided to work abroad because ...

A he wanted to learn other languages. D
B he didn’t have work in Britain.

C he wanted to try something new.

D a German advertising company offered him a job.

3. Why do the British choose Germany for work?

A People in Europe speak English well. D
B Now it is easier to find work in Europe.

C It is easy to start business in Europe.

D They want to travel.

4. What is the WRONG statement?

A The British think that the Germans are very creative. D
B Britain and Germany have different traffic rules.

C Jonathan Palmer is a designer.

D Jonathan Palmer has worked in Germany for 4 years.

5. What does the underlined phrase in the text mean?

A lived

B travelled
C worked
D thought

31
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[image: image35.jpg]Task 2. Match statements (6-10) to the notices (A-G).

6. Today you cannot travel there.
7. Go there if you lost something.
8. Not all people may call from here.
9. You cannot play football here.
10. They will teach you what and how to do.

No ball games in the yard [B]Professor Higgins will have
his classes tomorrow _,

[C| Telephone for customers’J
use only 'y

'| DIFound student’s bag. Address
Mrs. Hilton in the staff room
N

razilian coffee — [G]Vacancy of a shop assistant.
Opening hours 8 am - 5 pm No experience needed.
Free training. Call 6798900.,

[E]No boat trips to Lizard Island
because of bad weather

Task 3. For beginnings 11-16 choose the correct endings A—J. There are four
choices you do not need to use.

11. The most popular hero of English ballads is ... D A amilitary policeman.
12. MP stands for ... B Buckingham Palace.

13. The symbol of England is ... C a highly skilled archer and swordsman
Robin Hood.

D Caernarvon Castle.
E the Tower of London.
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14. The British Flag is commonly known as ...

15. Elisabeth II, the Queen of Great Britain,
lives in ...
16. The crown jewels are kept in ...

F a member of the parliament.
G Westminster Abbey.

H the red rose that comes from the history
of the country.

I the Union Jack, the origin of which dates
back to 1603.

J the shamrock, which refers to the young
springs of clover.

Emglish
OO0 0000o0ad

Task 4. Choose the correct answer A-D.

17. You've got to get up early tomorrow so don’t forget to D your alarm clock.

A put
B set

C rest
D fix
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[image: image36.jpg]18. What a grey day! It’s very D 3
A sunny
B cloudy

C cloudless
D bright

19. The children D alot of noise at the moment.
A making
B are making
C have made _
D makes

20. That room ... before we move into the flat.

A have to paint

C must be painting
B will paint

D must be painted

21. - “Shall we go out tonight?”

~“No, I'd rather a meal at home.”
A cook
B had cooked ®
C cooked
D to cook

22. I'm younger than Jason, D’J

Aaren’t I
B Iam not
Caml
Ddon’t1

23. 1 think I have been married D 10 years now.
A from
B for
Cby
D since

24. I:] is your grandfather?

AWhat time
B How old

C Which age
D How much

Task 5. Writing (50-60 words).

25. Next summer you are going to learn the English language in one of British summer schools.
Contact organizers and ask them about the following:
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price of the course;

accommodation where to stay;

things you have to take with you;

activities you will have in the summer school.

oo o o
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Task 1. Read the passage and answer the questions 1-5 (only one answer is
possible).

A STORMY DEBATE

One of the worst storms ever to hit the United States was Hurricane Katrina in August 2005.

The storm flooded 80% of the city of New Orleans. The tsunami in the Indian Ocean in December 2004
was also a huge disaster that killed 230,000 people. But the reasons for terrible weather conditions
have led to a lot of disagreement between scientists and meteorologists around the world.

Some experts say that in the past 100 years there haven’t been any real major changes in the
weather. They say that harsh weather is something that occurs naturally and that it isn’t getting any
worse. The reason that people think it is getting worse is due to the fact that, nowadays, there is more
information on weather events around the world in newspapers, on the radio and on television.

There are, however, scientists who believe that global warming is affecting the climate. They be-
lieve that greenhouse gases are responsible for making the Earth warmer. Which theory do you agree
with? The truth is, with more research and discussion into the reasons for harsh weather conditions,
the brighter the world’s future will be.

1. Because of Hurricane Katrina ...

A most of New Orleans was covered in water. D
B New Orleans was hit by a tsunami.

C New Orleans lost 80% of its water.

D 230,000 people were killed.

2. Experts around the world ...

A agree on the reasons for bad weather. D
B do not agree on the reasons for bad weather.

C are meteorologists.

D are changing the weather.

3. According to some scientists, in the past 100 years ...

A there are more cycles. D
B there have been more tsunamis.

C people have been watching too much television.

D the weather has not become worse.

4. One reason for the harsh weather could be because ...
A there is more information about people. D
B we see and hear more about the weather.

C more people travel around the world.
D we don’t read enough newspapers.

5. Some scientists believe global warming ...

A is affecting the climate. D
B is not hurting the environment.

C is a reason for the change in summers.

D is producing greenhouse gases.
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6. There you will get a driving license.
7. In this shop you have to pay in cash.
8. Not all drivers can stop here.
9. You cannot enter the shop with your bags.
10. You will not be able to wash yourself for a few days.

arking for police [B] Attention!!! [ClDriving school invites students.
cars only Leave your bags in the storage Lessons begin 1 May.

chambers ’ Phone 980987

[D|Credit cards are not ‘ [ElSorry no shower in the Sports
accepted Center this week

No dogs in the
supermarket

Task 3. For beginnings 11-16 choose the correct endings A-J. There are four
choices you do not need to use.

[F|Please switch off you mobile
phone during the journey
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musical instrument is ...

15. “Alice in Wonderland” was
written by ...

16. The longest river in the UK is

a bagpipe, in which air blown into a bag is forced out
through pipes to produce the sound.
four parts.

11. The UK consists of ... A Christopher Columbus, a famous explorer who realized
that the world was round.
12. The American continent was B Lewis Carroll.
discovered by ...
13. The leader of the music group C Amerigo Vespucci, an Italian explorer, financier, navigator
“Beatles” was ... and cartographer.
14. A famous national Scottish D three parts.
E
F

G the Thames, which flows through southern England.
H John Lennon.

D I the Severn, which runs from the Welsh mountains to
Bristol Channel.
D J aviolin, a small wooden instrumgnt.

oooooonono

Task 4. Choose the correct answer A-D.
17. - “Do you like classical music?”

— “Yes, but I prefer jazz D classical music.”

A than Bto
C from D rather
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18. The shop D I bought this coat has closed.

A whose
B that
C there
D where

19. I'wish I D to paint this blue. It looks terrible.

A didn’t decide

C hadn’t decided
B wouldn’t decide
D wasn’t: decided

20. Do those people have D money to invest in the company?

A many
Balot

Clots -
D much

21. They D ‘we had our own shop.
A hasn’t known
B didn’t know
C not known 5
D never know

22. When Tom was a small child, he I:l spend hours every day playing with his toys in the garden.

A used
B would

C was
D should

23. Did you have any problems D the museum?

A find

C finding

B to find

D for finding

24. D was the weather like when you were on holidays?
A What
B How
C Where
D When

Task 5. Writing (50-60 words).

25. You spent summer holidays in a foreign country. But you didn’t like the service.
the travel agent and tell them what you didn’t like. Include the following:

e air-conditioning did not work;

e you did not like the food;

e dirty hotel room and noisy neighbours;
« impolite guide.
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[image: image40.jpg]18. The shop D I bought this coat has closed.
A whose
B that
C there
D where

19. T wish T [J to paint this blue. Tt looks terrible.
A didn’t decide
C hadn’t decided
B wouldn’t decide
D wasn’t decided

Do those people have D money to invest in the company?
A many

Balot,

C lots

D much

21. They D we had our own shop.
A hasn’t known
B didn’t know
C not known
D never know

20.

22. When Tom was a small child, he D spend hours every day playing with his toys in the garden.
A used
B would

C was
D should
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Did you have any problems D the museum?

A find

C finding

B to find

D for finding

24. D was the weather like when you were on holidays?

{3
@
m—
E) A What
S
M

B How
C Where
D When

Task 5. Writing (50-60 words).

25. You spent summer holidays in a foreign country. But you didn’t like the service. Write a letter to
& the travel agent and tell them what you didn’t like. Include the following:

e air-conditioning did not work;

 you did not like the food;

e dirty hotel room and noisy neighbours;
* impolite guide.
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